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1. B8R 4 3(20%)
(a) PC, (b) CPU, (c) Recursive, (d) OOP,
(e) Bit, (f) Byte, (g) Mega Byte, (h) Two's complement,
(i) Fixed point number, (j) Hexadecimal System.

2. (a) RALERTI A LA RETIS%)
(b) ATFFr5IfT & BRSBTS, F15 B 7t BB A25%)
Keyboard, Monitor, Scanner, Mouse, Camera, Microphone, Printer, Speaker

3. MUATFT et Fa A+ x7+ AL B FH AR+ N B F(15%)
(a) 10110110, (b) 01101101, (c) 11110000, (d) 35, (¢) 78.

4 RUATE&E K 00 822(15%)
(a) 15 and 23, (b) 165 or 25, (c) 255 xor 127

3. SLEBAAT 3E A% 44 =% = (Call by value)(5%)247 4§ 4% 1t =% v (Call by address)?(5%)

6. MFELLT &4 AR AE2(10%)
(a) char, (b) int, (c) unsigned short, (d) float, (e) double.

1. BRARATH th 1+ % ) 99 encapsulation, inheritance, #Lpolymorphism?(10%)
8. WEAT 742 X 4% e HAT 4 £2(10%)

#include <stdio.h>

int func(int n ) {

if (n <=1 ) return n;

else return func(n-1)+func(n-2);
} // end function func

void main(void) {
int result;
result = func( 5 );
printf("result=2%d\n", result);
} // end main




